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402 2I2E X201 & 272,664 268,156 4,508
< 68,064
Al 204,600
02 QI X2 AL EE(OIHTHE) 272,664 268,156 4,508
OLTHAOIH X ==& XIH At
272,664,000 272,664
= 68,064
Al 204,600
HEI| 2el 22,439 5,000 17,439
101 21AH| 15,039 0 15,039
04 JIZtN2Z2XNS 2= 15,039 0 16,039
OHEI EIIZA LAIAIS Q12
9,860 x7H*BA| 2+ 18 9,939
OAZI| HIIZA LAIAIS QIRA(AUEE)
5,100,000& 5,100
201 fer23y| 7,400 5,000 2,400
01 AtR2t2lHI 7,400 5,000 2,400
OHEI 88 82 & M= MA
3,000,000 *14] 3,000
OHEI EIIZEAM WE =8
2,000,000 2,000
OAEI| HIIBA HEEH S &xt
2,400,000& 2,400
HRMNE Sl 500 500
206 M=l 500 500
01 M=4l 500 500
ON=SEIAN RFFY 500,000& 500
HEFE TADIA S22 £X 1,700,000 1,100,000 600,000
< 100,000
Al 1,600,000
402 QIF X201 & 1,700,000 1,100,000 600,000
= 100,000
Al 1,600,000
02 QI X2 AL EE(OIETHE) 1,700,000 1,100,000 600,000
OH=E TADIA Sati2t £X
1,700,000,000& 1,700,000




2A:

LD )y

M (LR KRB (A - SAIIAL LT/ MK LK)
&elr HIUXIE=s 2l EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 100,000
Al 1,600,000
FHAHE HXI=XK 360,000 250,000 110,000
| 180,000
Al 180,000
401 A& B2 20HY| 360,000 250,000 110,000
| 180,000
Al 180,000
01 AlEHI 360,000 250,000 110,000
0Z2Y DX BH Al
360,000,000& 360,000
| 180,000
Al 180,000
AMMHUEK & - S8 KA 1,407,381 0 1,407,381
= 587,410
Al 819,971
402 SIZER=0IH 1,407,381 0 1,407,381
= 587,410
Al 819,971
02 QIZEXH2 AL 2 2 (01 & &) 1,407,381 0 1,407,381
OATHAOIL X S=etXE A
1,407,331,000& 1,407,381
= 587,410
Al 819,971
AMTHAO AKX ASXS (2R EXH) 18,000 20,000 22,000
& 9,000
Al 9,000
402 IZERH=0IH 18,000 20,000 A2,000
& 9,000
Al 9,000
02 QIZIXH2 A 22 (01 & &) 18,000 20,000 22,000
OLI MK HSXIE At
18,000,000 18,000
= 9,000
Al 9,000
20| MHSEX X N& 6,000 6,000 0
& 3,000
Al 3,000
402 SIZERH=0I1H 6,000 6,000 0
& 3,000
Al 3,000
02 QIZEXH2 AL 22 (01 & TH &) 6,000 6,000 0
Os&J| sldNsEX K& AtS
6,000,000& 6,000




2A: NSEZ A
M (LR KRB (A - SAIIAL LT/ MK LK)
el iHXES 22l EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 3,000
Al 3,000
LPGED| AFEJIT AIE JHE At 45,000 45,000 0
= 22,500
Al 22,500
403 MXISHHMSAHE01A 45,000 45,000 0
= 22,500
Al 22,500
02 SIS0 CHet A2 2 EAFHI 45,000 45,000 0
OLPGEI| AHEIZ Al&E i
45,000,000& 45,000
= 22,500
Al 22,500
OIEFUAZ M| St Ol AHEAIE XA ALY 10,480 28,275 A17,79%
& 3,144
Al 7,336
206 =4l 10,480 28,275 A17,795
T 3,144
Al 7,336
01 =8l 10,480 28,275 A17,7%
OCHMFAS MI| S oY ™AL X
2 At 10,480,000 10,480
= 3,144
Al 7,336
I Xl RH& 2tel 4,000 4,000
201 LB-2AY| 4,000 4,000
01 AtR2telt] 4,000 4,000
o2 SE= 2l 4,000,000& 4,000
HHY2AAHI(XISZH ) (IIEHIIEL) 43,760 51,400 A7,640
Jl2&l 43,760 51,400 AT,640
J|123&H| 43,760 51,400 AT,640
201 L2 AH| 5,600 7,000 A1,400
01 AtR22eltl 5,600 7,000 21,400
O3l 5,600,000& 5,600
202 0idl 34,560 40,800 6,240
01 =LHO4b] 34,560 40,800 A6,240
OZHEZE NI 34,560,000 34,560
203 HRF&lY| 3,600 3,600
M EN2LEHRFA| 3,600 3,600
OFRAN2ILRF&I 300,000& 12& 3,600




